Burgers as a driver of climate change

Meat is one of the products that are driving the destruction of places like the Cerrado and the
Amazon rainforest. The production kilogram of 1 kg of beef releases 36kg of greenhouse gas
emissions. People in the UK now eat a total of 1 million tonnes of beef per year.

Use wwf.org.uk/learn/povertyandenvironment website and the words below to create a
mapping diagram to explore the links between burgers and the environment.

Prepare a short presentation explaining how meat consumption is one of the drivers of climate

change. Suggest how this problem could be resolved.
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